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[0 O O int CalcCapital (char *str){ if (str == NULL) return 0. //0
OO00000000 intnum_of Capital=0./0 00000 O
OO000000000O0for(inti=0. str[i] '=0x0. 1) if (str[i] = 2)
num_of Capital./0 0000000 OO0OLreturnnum_of
Capita.l /0D 00000002000 O 0O float sum(int n){ if
(n==1) return 1. else return sum(n-1) -(1.0/n)*(-1)n. } 300 O O O
[1 Node * insNode(Node * head, int newValue) { Node * newNode
=new Node.//0OO0O0OOOO O if (newNode == NULL) return
NULL.// newNode->data=newValue. /0 0 0O 0O 0O 0O O O
newNode->next = NULL. Node *pre, *cur. Pre = headl if (head
== NULL) head =newNode. /0 OO 0O OO O O O else
if(newValue>=head->Value){ newNode->next=head. head =
newNode. /000000000 }Yelse{//OL0OO0OOOMN
Node *cur,*pre = head. while(pre->next '= NULL){ cur =
pre->next. if(newValue >= cur->Value) break. else pre = cur. }
if(pre->next!= NULL) newNode->next=cur.//0 000 0O O O
OO0 O pre->next=newNode. //UJ O 0O O OO }}return head.
S I I I A Y O 4 g 2
MinCode(char charAry[],int len=10) { char mixCode = 0x0. for(int
1=0. 1 { if (charAry [i] mixCode = str[i]. } return mixCode. } OO I [
DOo0O000 001000 @A) bottom (NULL)(B) top ==
NULL.(C) ptop = top.(D) pNew->nextltem = top.(E) top = pNew.
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